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401 Al HI L 204 250,000 0 250,000
o=t 125,000
Al 125,000
01 Al&H| 250,000 0 250,000
ANEDSY AX(ZE2EN) 250,000
& 125,000
Al 125,000
HAEAHBF It = 1,339,819 2,029,896 A 690,077
SEA L BrEAIA 22 1,339,819 2,029,896 A 690,077
CCTV SE82MAH 24 1,339,819 2,029,896 A 690,077




SN HEE
HE: MAZBE JeRE
SHelr S4 Y BEAE el (el @2)
K- B8 S2(3H) - HSAY - BaS o AF o San H D2
101 @121l 31,667 30,976 691
04 JI2ZtH2Z2XNHEE 31,667 30,976 691
SESZMAEH JIZH2Z2XNE E 31,667
-Jl=22 70,0003 1 =252 17,640
- F5Y 70,000& * 1 x52 3,640
-Ei=g 70,000& *1H 15 1,050
- S 4l 140,000& *1H x12& 1,680
- W SH| 30,000& *1H +x12& 360
- & F Oyl 500,000& x1H 23] 1,000
- xlg 2 AUBEE S 6,297
201 LEt2 A Y| 633, 152 971,920 N 338,768
01 AFR2t2l bl 5,000 5,000 0
ZHAEH 29 A2 5,000
02 3524l 628,152 966, 920 338,768
CCTVItHI 2t M2 25,000
CCTVEE 2 MM MIjot™ e s H 8,100
SEZMEH SXN22EY 200,000
CCTV Al& &Hl S Xlbl 15,000
CCTVS Al 3l 2 330,052
CCTVEE2MHEEH M2 50,000
401 Al HIL 200 300,000 670,000 A 370,000
01 Al &bl 300,000 670,000 A 370,000
10t 1CCTV & Xl 50,000
SHE CCTV(SE &) AX| 150,000
HSOIA JtHie &X & WAl 100,000
405 X+HaHF SHI 375,000 357,000 18,000
01 A&t = S F SHI 375,000 357,000 18,000
AAMMEEI(AECIX) 140,000
AAHEZHMHNEH 2ZEYA 55,000
CCTV Ip &2 T2 60,000
SE2MHEE XMAA =2 WH| 74,000
PHMMERAETI(UPS) == BHE 2 DA 21,000
ZHAE Z2LEHE PC A 25,000
HE 2 FY| 142,022 144,736 N2, 714
Jl22& bl 142,022 144,736 N2, 714
Jl23Hl 142,022 144,736 N2,714
201 et A | 111,746 108,346 3,400
01 AFR22t2ld] 46,880 35,080 11,800
ol Ht=2H| 36,080
= | 900,000& x12& 10,800




AN AASEN
Ha: Y2 YA
el =P CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 =224l 64,866 73,266 A 8,400
=323 2 HAl 58,800
A& &l & Xl 6,066
202 O4dl 24,696 30,870 NG, 174
01 = LH 4 Hi 24,696 30,870 A6, 174
ot 2E gRFA 24,696
203 YR =&l 5,580 5,520 60
04 FN2ELSZ=TH| 5,580 5,520 60
FA2EYS=LH| 5,580
HWeEs 615,000 850,000 A235,000
WHEHHXZ 615,000 850,000 A 235,000
Het2edls d=23 615,000 850,000 A 235,000
702 JISHEES 615,000 850,000 A 235,000
(RPIE=RSE<t= 615,000 850,000 A 235,000
Hetzeldls 88 JEgs 615,000




